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MIXED NUMBERS HAVE A WHOLE NUMBER AND A FRACTION. THINK OF MIXING SOMETHING UP.
IMPROPER FRACTIONS ARE WHEN THE NUMERATOR (TOP NUMBER) IS BIGGER OR EQUAL TO THE DENOMINATOR.

WRITE AN IMPROPER FRACTION FOR EACH MIXED NUMBER.

ADD 30 + 3 = 33.

| MULTIPLY 6 X 5 = 30. |

MIXED NUMBER =30 30+ IMPROPER FRACTION
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MIXED NUMBERS HAVE A WHOLE NUMBER AND A FRACTION. THINK OF MIXING SOMETHING UP.
IMPROPER FRACTIONS ARE WHEN THE NUMERATOR (TOP NUMBER) IS BIGGER OR EQUAL TO THE DENOMINATOR.

WRITE AN IMPROPER FRACTION FOR EACH MIXED NUMBER.

ADD 60 + 2 = 62.
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| MULTIPLY 5 X12 = 60. |
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